W AndyMark,

AndyMark © Field Components for 2018-2019 FIRST® Tech Challenge
DSOFIRST 1 M AndyMark




This guide contains instructions for assembling the Field Elements for the 2018-2019 FIRST® Tech Challenge Game

ROVER RUCKUS*M Presented by Qualcomm® Inc.

Read through all the instructions and take inventory before you begin to
assemble the game elements!

REVISION HISTORY

(1A Date Description

8/24/2018 Initial Public Release

9/6/2018 Added Sticker Placement info, Minor Text Changes

9/13/2018 Added note about stuck game pieces.

9/28/2018 Corrected images of Lander in step 1-29

CAUTION
Edges of field parts may be sharp. File or deburr sharp corners or edges as
needed.

ASSEMBLY VIDEOS CAN BE FOUND ON OUR WEBSITE:
AndyMark.com/FTC

DSOFIRST M AndyMark




TOOLS NEEDED

Component Part Photo

Safety Equipment

Ratchet (Optional)

Drill (Optional)

3/8” Nut Driver or Socket

Zip Tie Cutters

5/16" Wrench

3/8” Combination Wrench

7/16" Combination Wrench

1/2" Wrench

File

Utility Knife

25’ Tape Measure

Rubber Mallet

ADDITIONAL REQUIRED ITEMS

2" RED Gaffers Tape 1

2" BLUE Gaffers Tape 1

Tools and tape can be purchased as a set from AndyMark

GAME PIECES and ELEMENTS
Component Part # QTY Part Photo

.

Gold Scoring Element ftc-2013 90 H

y

e
Silver Scoring Element @

See Field Setup Guide for placement information.

M AndyMark




CRATER

Component

Crater Segment

Hardware Pack

11" Cable Tie
(extras included, additional will be
needed for future setups)

QTY

am-3862

Part Photo

Lower Clip

ADDITIONAL ITEMS - NOT INCLUDED
Part # QTY

Component

Cardstock for Navigation
Target

(Printed from FIRST Resource
Library)

am-3875

Part Photo

Command Mini Hooks
P/N: 17006-VP

For use with AndyMark, IF
and Logo Loc Perimeters

P/N:
17006-VP

Velcro® Dots

AndyMark Perimeters

For use with early generation

Roughly
%"
diameter
or larger

DSOFIRST

Clear Page Protection Sleeves

Similar to
Staples
P/N 40713

4

See Field Setup Guide for placement information.

M AndyMark


https://www.firstinspires.org/resource-library/ftc/game-and-season-info
https://www.firstinspires.org/resource-library/ftc/game-and-season-info

LANDER

Component Part Photo

Leg am-3872a

Foot Cap Bracket am-3874

Under Tile Disk am-3881

Leg Strut am-3879

Corner Bracket am-3885

Side Panel - Unified

am-

Internal Long Wall - BLUE 3887 Blue

am-

Internal Long Wall - RED 3887 Red

am-

Internal Short Wall - BLUE 3888 _Blue

am-

Internal Short Wall - RED 3888_Red

Top Dome

Ball Floor am-3882

Cube Floor am-3883

3in Churro am-3873

DSOFIRST M AndyMark




Release Pin

am-1489

32" Large Cable Tie
(175lb Tensile Strength)

Elevator Bolt

am-1497

am-1482

Hardware Pack 1

l

1/4-20 Hex Nut

am-1487

Lower Strut Spacer

am-3876

1/4-20 x 0.75" Self Tapping
Screws

am-1310

10-32 x 1.75" Hex Screw

am-1491

10-32 Wing Nut

1/4-20 x 0.75" Self Tapping
Screws

am-1483

am-1310

12

¥ f e

_Hardware Pack 2 - Lander Body Hardware

10-32 x 0.75" Hex Screw

am-1157

10-32 Nylock Jam nut

am-1063

3/16" Push In Rivet

am-1488

v 7o

Lander Support Bracket

Hinge Bracket

am-3880

7

Hardware Pack 3

3/16" Push In Rivet

am-1488

10-32 x 4.000 Hex Head Cap
Screw

am-1484

10-32 Nylock Jam nut

Field Sticker Sheet
(Packaged with AndyMark
Flyer)

DSOFIRST

am-1063

e Quaomn

ROVER

M AndyMark




Hardware Sizing Chart
Print at 100% scale to use as a sizing chart.

1/4-20 Nut am-1487

10-32 Nylock Jam nut am-1063

10-32 Wing Nut am-1483

3/16" Push In Rivet

Elevator Bolt am-1482

-I| TR
IIII llllll llllll llllll llllll llllll llllll llllll llllll |:|||II |:||I-

1/4-20 x 0.75" Self am-1310
Tapping Screws

10-32 x 0.75" Hex Screw | am-1157

10-32 x 1.75" Hex Screw | am-1491

10-32 x 4.000 Hex Head | am-1484
Cap Screw

M AndyMark




Churro Tapping Preparation

The Lander includes parts called “Churro” standoffs. The Churro is a profile with a through hole in the center. The Churro is
designed to be held with a 1/2” wrench. The center hole is designed to fit 1/4-20" Self Threading Screws.

The Churros included in the kit do not have center hole threads. These threads will be cut into the center hole with the Self
Threading Screws as shown below. More information can be found in the “Churro Tapping Video” available on
AndyMark.com/FTC.

Parts Required:

12 - 3in Churro,
24 - 1/4-20 Self Tapping Screws

Method 1: Drill and Bench Vise

Tools required: Drill, 3/8" driver, bench vise.

Add a 3/8" driver to a drill on a high-torque, low speed setting. Hold the Churro with a vise. Align the screw to be as straight
as possible and drive the screw into the hole.

Some pressure will need to be applied to the drill as the screw will be cutting away metal to form threads. Thread the screw
all the way into the Churro. Repeat for both ends of the Churro and then remove the screws to use later in the Lander
assembly.

PSOFIRST 8 M AndyMark




